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1.
IN - OUT + GENERATION = ACCUMULATION







(at steady state ACCUM= 0)

2.
When performing a heat or mass balance make sure you know what the balance is for.

eg:
Mass balance on O2 in a system with O, C, Fe ...


 What species or group of species?

eg:
Heat balance "on the solid" 


 What phase?

3.
When given problems involving rates, ratios, fractions, or percents, use a "basis of calculation" 

eg:
assume 
time = 1 minute or total mass = 100 g 




or total moles = 100     etc

4.
Look for stoichiometric relationships.

Ex.  MxOy(S)



If the only source of M and O is from MxOy, then
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5.
Mass Inputs = Mass Outputs

At steady state there is no generation of elemental mass or moles. This is also true for inert (ie non-reactive) compounds. Balances on compounds may have non-zero accumulation terms.

6.
For a system with i components there are i mass balances.  The total mass balance is redundant.

7.
Reaction Mechanisms are unimportant in overall heat and mass balances.  ∆H = State Function.

8.
Always sketch the problem.
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